$$H = - + \sum_{\langle ij \rangle} (C_i^{\dagger} C_j + h.C) + V \sum_{\langle i,i+1 \rangle} n_i n_{i+1}$$

low energy continous model

$$\frac{1}{\alpha} R_{i} = J_{R} + J_{L} + N^{\dagger} e^{-2ik_{f}X} + N e^{2ik_{f}X}$$
where
$$J_{R} = \psi_{R}^{\dagger} \psi_{R}, \quad J_{L} = \psi_{L}^{\dagger} \psi_{L}$$

$$N^{\dagger} = \psi_{R}^{\dagger} \psi_{L} \qquad N = \psi_{L}^{\dagger} \psi_{R}$$

$$\frac{1}{\alpha^{2}} n_{i} n_{i+1} = J_{R}^{2} + J_{L}^{2} + 2 J_{R} J_{L} + NN e^{-2i k_{f} r_{i} + 2i k_{f} (r_{i} + \alpha)}
+ NN^{+} e^{2i k_{f} r_{i} - 2i k_{f} (r_{i} + \alpha)} + NN e^{+-4i k_{f} r_{i} - 2i k_{f} \alpha}
+ NN e^{2i k_{f} r_{i} + 2i k_{f} r_{i}} + 2i k_{f} \alpha$$

$$: N^{\dagger}N : = : \psi_{R}^{\dagger}\psi_{L} \psi_{L}^{\dagger}\psi_{R} : = -\psi_{R}^{\dagger}\psi_{R} \psi_{L}^{\dagger}\psi_{L} = -J_{R}J_{L}$$

$$: N^{\dagger}N^{\dagger} : = : \psi_{R}^{\dagger}\psi_{L}^{\dagger}\psi_{L}^{\dagger}\psi_{L}^{\dagger} : = : \psi_{R}^{\dagger}(x) \psi_{R}^{\dagger}(x+\epsilon) \psi_{L}^{\dagger}(x+\epsilon) \psi_{L}^{\dagger}(x+\epsilon)$$

keep non-chiral part,

$$\Pi_{i} \Pi_{i+1} = \left[2 - 2\omega_{S}(2k_{F}) \right] J_{R} J_{L} + \psi_{R}^{\dagger}(x) \psi_{R}^{\dagger}(x+\epsilon) \psi_{L}(x+\epsilon) \psi_{L}(x) \cdot e^{-2ik_{F}} \\
+ h. C$$

G: reciprocal lattice rector

$$H_0 = \int dx \ v_F \left[v_R^{\dagger} \left(-i \partial_x \right) v_R + v_L^{\dagger} \left(i \partial_x \right) v_L^{\dagger} \right]$$

$$J_{R}(x) = \sqrt{\pi} \partial_{x} \phi_{R}(x)$$

$$\psi_{R}^{\dagger} (-i\partial_{x}) \psi_{R} = (\partial_{x} \phi_{R})^{2}$$

$$\Rightarrow \psi_R^{\dagger}(-i\partial_x)\psi_R = \pi : J_R(x)J_R(x)$$

This relation can also be obtained through fermionic OPE.

current algebra firm

$$\Rightarrow$$
 $H_0 = V_F \Pi \int dx \left(:J_L^2: +:J_R^2:\right]$ for spinless fermion

bosonic

$$J_{L}^{2} + J_{R}^{2} = \frac{1}{\pi} \left[\left(\partial_{x} \phi_{R} \right)^{2} + \left(\partial_{x} \phi_{L} \right)^{2} \right] = \frac{1}{2\pi} \left[\left(\partial_{x} \phi_{L} \right)^{2} + \left(\partial_{x} \phi_{L} \right)^{2} \right]$$

$$J_{R} J_{L} = \frac{1}{\pi} \left[\partial_{x} \phi_{R} \partial_{x} \phi_{L} \right] = \frac{1}{4\pi} \left[\left(\partial_{x} \phi_{L} \right)^{2} - \left(\partial_{x} \phi_{L} \right)^{2} \right]$$

$$\psi_{R}^{\dagger}(x)\psi_{R}^{\dagger}(x+\epsilon) = \frac{1}{2\pi\alpha} e^{-i\sqrt{4\pi}} \phi_{R}(x) - i\sqrt{4\pi} \phi_{R}(x+\epsilon)$$

$$= \frac{1}{2\pi\alpha} e^{i\sqrt{6\pi}} \phi_{R} e^{-i\frac{\sqrt{2}}{2}\cdot 4\pi} [\phi_{R}(x), \phi_{R}(x+\epsilon)]$$

$$= \frac{1}{2\pi\alpha} e^{i\sqrt{6\pi}} \phi_{R} e^{-2\pi} \frac{i}{4} sgn(-\epsilon)$$

$$ψ_{(X+E)} ψ_{(X)} = \frac{1}{2πα} - e^{i\sqrt{4π}} φ_{(X+E)} - i\sqrt{4π} φ_{(X)} = \frac{1}{2πα} - i\sqrt{6π} φ_{(X+E)} φ$$

$$\psi_{\ell}(x+\epsilon)\psi_{\ell}(x) = \frac{1}{2\pi\alpha} e^{-i\sqrt{16\pi}\phi_{\ell}} e^{-2\pi(-\frac{i}{4}Sgn(\epsilon))}$$

=)
$$\psi_{R}^{\dagger}(x)$$
 $\psi_{R}^{\dagger}(x+\epsilon)$ $\psi_{L}^{\dagger}(x+\epsilon)$ $\psi_{L}^{\dagger}(x) = \frac{1}{(2\pi a)^{3}}$ $e^{i\sqrt{6\pi}} \phi_{R} e^{i\sqrt{16\pi}} \phi_{L} e^{i\pi sgn} \epsilon$

$$= \frac{-1}{(2\pi a)^2} = i\sqrt{6\pi} \, \phi_R = i\sqrt{6\pi} \, \phi_L = \frac{-1}{(2\pi a)^2} = i\sqrt{6\pi} \, \phi_R = \frac{(-i)^2}{2} \cdot 16\pi \, [\phi_R, \phi_L]$$

$$= \frac{-1}{(2\pi a)^2} e^{i\sqrt{16\pi} \phi}$$

$$e^{-8\pi\cdot\frac{i}{4}}=1$$

we can start from $N^{\dagger}N^{\dagger} = \left(\frac{i}{2\pi a}\right)^2 e^{-i\sqrt{4\pi}} \phi(x) = i\sqrt{4\pi} \phi(x+\epsilon)$

$$=\frac{-1}{(2\pi\alpha)^2}e^{i\sqrt{16\pi}\phi}, \quad \boxed{[\phi(x),\phi(x+\epsilon)]=0}$$

$$[\phi(x), \phi(x+\epsilon)] = 0$$

consistent!

$$H = \int dx \frac{v_F \pi}{2\pi} \left[\left(\partial_x \phi \right)^2 + \left(\partial_x \phi \right)^2 \right] + \frac{2V \left(1 - \omega s z k_F \right) \left(\partial_x \phi \right)^2 - \left(\partial_x \phi \right)^2 \right]$$

$$-\frac{2V}{(2\pi\alpha)^2}\cos\left[\sqrt{16\pi}\,\phi + 2k_{\beta}\alpha + \delta x\right] \left[\delta = 4k_{\beta}\alpha - G\right]$$

$$\frac{\delta}{2} = \left(2 \lg \alpha - \pi \right)$$

$$\frac{\delta}{2} = (2k_{\beta}a - \overline{11})$$

$$- \frac{\delta}{2} = (2k_{\beta}a - \overline{11})$$

$$\cos 2k_{\beta} = -\cos \frac{\delta}{2}$$

$$H = \frac{\sqrt{2} \int dx \left[1 + \frac{\sqrt{2}}{\pi \sqrt{2}} \left(1 + \omega s \frac{d}{2}\right)\right] \left(\partial_{x} \phi\right)^{2}}{4 \left[1 - \frac{\sqrt{2}}{\pi \sqrt{2}} \left(1 + \omega s \frac{d}{2}\right)\right] \left(\partial_{x} \phi\right)^{2}}$$

$$+ \int dx \frac{2\sqrt{2}}{(2\pi a)^{2}} \omega s \left[\sqrt{16\pi} \phi + \frac{d}{2} + dx\right]$$
Set in commensuring bility $\delta = 0$

$$\Rightarrow H = \frac{\sqrt{\epsilon}}{2} \int dx \left[\frac{1}{K} (\partial x \phi)^2 + K (\partial x \theta)^2 \right] + \frac{9}{(2\pi a)^2} \cos \sqrt{6\pi} \phi$$

where

$$v_c^2 = v_F^2 \left[1 - \left(\frac{Va}{\pi v_F} \right)^2 \cdot 4 \right]$$

$$K = \sqrt{\frac{1 - \frac{Va}{\pi v_F} \cdot 2}{\pi v_F}} \Rightarrow K < 1 \text{ if } V > 0.$$

Next step, I will derive RG for the above sine-Gordon E.2. We Change it to Langrangean.

1 + Va . 2

$$\mathcal{L} = \int dx dz \frac{1}{2VK} (\partial_x \phi)^2 - \frac{V}{2K} (\partial_x \phi)^2 - \frac{9}{(2\pi a)^2} \cos \sqrt{6\pi} \phi$$
imaginary time
$$\frac{1}{2} \left[(\partial_z \phi')^2 + (\partial_x \phi')^2 \right] + \frac{9}{(2\pi a)^2} \cos \beta \phi', \quad \text{where } \phi' = \frac{\phi}{\sqrt{K}}$$

$$\beta = \sqrt{16\pi K}$$

action
$$\frac{\partial}{\partial x} S$$
, where $S = S_0 + S_1 = \frac{1}{2} \int dx dx \left[\left(\frac{\partial x}{\partial x} \phi' \right)^2 + \left(\frac{\partial x}{\partial x} \phi' \right)^2 \right] + \frac{\partial}{(2\pi a)^2} \cos \beta \phi'$ (set $V = 1$)

Hamiltonian

$$H_{p} = V_{F} \int dx \left(\partial_{x} \varphi_{R} \right)^{2} + \left(\partial_{x} \varphi_{L} \right)^{2}$$

$$= \frac{V_{F}}{2} \int dx \left(\partial_{x} \varphi \right)^{2} + \left(\partial_{x} \Theta \right)^{2}$$

$$\theta = \varphi_{R} - \varphi_{L}$$

$$[\phi(x), \partial_{x'} \theta(x')] = -i \delta(x-x')$$

 $\phi = \phi_R + \phi_L$

 $\partial_x \Theta = - \pi_{\Phi}$ add interaction - forward scattering

$$H = \frac{v}{2} \int dx \frac{1}{k} (\partial_x \phi)^2 + k(\partial_x \phi)^2 = \frac{v}{2} \int dx \frac{1}{k} (\partial_x \phi)^2 + k \pi_{\phi}^2(x)$$

v and k are anstant depends on interaction parameter

$$\mathcal{L} = \pi_{\phi} \dot{\phi} - \mathcal{H} \qquad \dot{\phi} = \frac{\partial \mathcal{H}}{\partial \pi} = \mathcal{V} k \pi_{\phi}(x)$$

$$= \frac{\dot{\phi}^{2}}{\mathcal{V}k} - \frac{\mathcal{V}}{2k} (\partial x \phi)^{2} - \frac{\mathcal{V}k}{2} \left(\frac{\dot{\phi}}{\mathcal{V}k}\right)^{2}$$

$$= \frac{1}{2k} \left[\frac{v(3\phi)^2}{v(3\phi)^2} - v(\frac{3\phi}{3x})^2 \right]$$

$$L = \int dx \int dt \left[\frac{1}{v} (\partial_t \phi)^2 - v(\partial_x \phi)^2 \right]$$

define
$$\begin{cases} \widehat{\Phi} = \sqrt{K} \, \widehat{\Phi} = \sqrt{K} \, (\widehat{\Phi}_{R} + \widehat{\Phi}_{L}) \Rightarrow \begin{vmatrix} \widehat{\Phi}_{R} = \sqrt{K} \widehat{\Phi} \\ \widehat{\Theta} = \sqrt{K} \, \widehat{\Theta} = \sqrt{K} \, (\widehat{\Phi}_{R} - \widehat{\Phi}_{L}) \end{vmatrix} \Rightarrow \begin{vmatrix} \widehat{\Phi}_{R} = \sqrt{K} \widehat{\Phi} \\ \widehat{\Phi}_{L} = \sqrt{K} \widehat{\Phi} \\ \widehat{\Phi}_{L} = \sqrt{K} \widehat{\Phi} \end{vmatrix} = \sqrt{K}$$

under \$, \$\overline{\text{0}}\$, we have

$$H = \frac{1}{2\pi} \int dx \left(\partial_x \widetilde{\phi}\right)^2 + \left(\partial_x \widetilde{\Theta}\right)^2 \implies \mathcal{L} = \frac{1}{2\pi} \left(\frac{1}{2\pi} \left(\frac{\partial \widetilde{\phi}}{\partial t}\right)^2 - \nu \left(\frac{\partial \widetilde{\phi}}{\partial t}\right)^2\right)$$

for the interacting Hamiltonian, it's the vaccum for $\widehat{\phi}$ and \widehat{O} . the original field $\widehat{\Psi}_R$, $\widehat{\Psi}_L$ and $\widehat{\Psi}_R$, $\widehat{\Psi}_L$ version

$$\begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} \text{ or } \begin{bmatrix} \varphi_{R} \\ \varphi_{L} \end{bmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{bmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{pmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{pmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{pmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{pmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{bmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{pmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{pmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{pmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{L} \end{pmatrix} = \begin{pmatrix} \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \\ \frac{1+k}{2\sqrt{1-k}} & \frac{1+k}{2\sqrt{1-k}} \end{pmatrix} \begin{pmatrix} \varphi_{R} \\ \varphi_{R} \end{pmatrix} \begin{pmatrix}$$

 $\widehat{\Phi}_R$ and $\widehat{\Phi}_L$ should also be expanded interm of new mode \widehat{b}_q \widehat{b}_q^{\dagger}

$$\widetilde{\Phi}_{R} = \widetilde{\varphi}_{R}(x) + \widetilde{\varphi}_{R}^{\dagger}(x) + \frac{\sqrt{\pi}x}{L} \widetilde{N}_{R}$$

$$\widehat{\varphi}_{L} = \widehat{\varphi}_{L}(x) + \widehat{\varphi}_{L}^{\dagger}(x) + \frac{\sqrt{\pi} \chi}{L} \widehat{\widehat{N}}_{L}$$

with
$$\widehat{\varphi}_{R} = \sqrt{\frac{1}{4\pi}} \sum_{q>0} \frac{1}{\sqrt{n_q}} \widehat{b}_q e^{iqx-aq/2}, \widehat{\varphi}_{R}^{+} = \sqrt{\frac{1}{4\pi}} \sum_{q>0} \frac{1}{\sqrt{n_q}} \widehat{b}_q^{+} e^{iqx-aq/2}$$

$$\widehat{\varphi}_{L}^{+} = \sqrt{\frac{1}{4\pi}} \sum_{q>0} \frac{1}{\sqrt{n_q}} \widehat{b}_q^{+} e^{iqx-aq/2}, \widehat{\varphi}_{L}^{-} = \sqrt{\frac{1}{4\pi}} \sum_{q>0} \frac{1}{\sqrt{n_q}} \widehat{b}_q^{-} e^{iqx-aq/2}$$

where
$$\begin{pmatrix} \widetilde{b}_{q} \\ \widetilde{b}_{-q} \end{pmatrix} = \begin{pmatrix} \frac{1+k}{2\sqrt{k}} & \frac{1-k}{2\sqrt{k}} \\ \frac{1-k}{2\sqrt{k}} & \frac{1+k}{2\sqrt{k}} \end{pmatrix} \begin{pmatrix} b_{q} \\ b_{-q} \end{pmatrix}$$

Cho -sho where
$$\begin{pmatrix} cho = \frac{1+|c|}{z\sqrt{k}} \\ -sho \end{pmatrix}$$
 where $\begin{pmatrix} cho = \frac{|c|}{z\sqrt{k}} \\ sho = \frac{|c|}{z\sqrt{k}} \end{pmatrix}$

AMPAL

Correlation function:

The ground state is the vaccum of by operators.

$$[\varphi_{R}(x), \varphi_{R}(x')] = \frac{1}{4\pi} ln \left[\frac{2\pi}{L} (a - i(x - x'))\right]$$

which are the same

$$[\widehat{\varphi}(x), \widehat{\varphi}_{L}^{\dagger}(x')] = \frac{1}{4\pi} \ln \left[\frac{2\pi}{L} (\alpha + i(x - x')) \right]$$

as $\varphi_R \varphi_R^{\dagger}, \varphi_L \varphi_L^{\dagger}$

$$\langle G | \widetilde{\varphi}_{R}(x + i) \widetilde{\varphi}_{R}(0) | G \rangle = \langle G | \widetilde{\varphi}_{R}(x + i) \widetilde{\varphi}_{R}(0) | G \rangle$$

=
$$\langle G | [\widetilde{\varphi}_{R}(x,t), \widetilde{\varphi}_{R}^{\dagger}(0)] | G \rangle = \frac{1}{4\pi} ln [\widetilde{\mathcal{Z}}(a-i(x-vt))]$$

$$\langle G | \widetilde{q}(xt) \widetilde{q}(\omega) | G \rangle = \langle G | [\widetilde{q}(xt), \widetilde{q}(\omega)] | G \rangle = \frac{1}{4\pi} ln \left[\frac{2\pi}{L} (a + i(x+v+v)) \right]$$

use the identity $e^A e^B = :e^{A+B} : e^{\langle G|AB + \frac{A^2}{2} + \frac{B^2}{2}|G\rangle}$

$$e^{i\beta\widetilde{\phi}_{R}(x+)}e^{-i\beta'\widetilde{\phi}_{R}(\omega)} = :e^{i\beta\widetilde{\phi}_{R}(x+)-i\beta'\widetilde{\phi}_{R}(\omega)}: e^{\langle G \mid \beta\beta'[\widetilde{\phi}_{R}(x+)\widetilde{\phi}_{R}(\omega)-\widetilde{\phi}_{R}^{\tilde{\zeta}}(\omega)] G \rangle}$$

$$\langle G | \widehat{\phi}_{R}(\widehat{o}) | G \rangle = \frac{-1}{4\pi} \ln \frac{2\pi a}{L} \Rightarrow e^{-\frac{(\beta - \beta')^{2}}{2} \langle G | \widehat{\phi}_{R}^{2}(\omega) | G \rangle} = e^{\frac{(\beta - \beta')^{2}}{8\pi} \ln \frac{L}{2\pi a}}$$

$$= \left(\frac{L}{2\pi a}\right)^{-\frac{(\beta - \beta')^{2}}{8\pi}} \Rightarrow 0$$
us we set $\beta = \beta'$

thus we set $\beta = \beta'$

 $\beta^{2}(G \mid \widetilde{\phi}_{R}(x \in)\widetilde{\phi}_{R}(0) - \widetilde{\phi}_{R}^{2}(\omega) \mid G) = e^{\beta^{2}(\frac{-1}{4\pi}) \ln \frac{a - i(x - v \in)}{a}}$

$$= \left(\frac{a}{a - i(x - v + i)}\right)^{\frac{\beta^2}{4\pi}}$$

$$\langle G | e^{i\beta \widetilde{\varphi}_{R}(x+)} e^{-i\beta' \widetilde{\varphi}_{R}(x)} | G \rangle = \delta_{\beta\beta'} \left[\frac{\alpha}{\alpha - i(x-v+)} \right]^{\beta^{2}}$$

(1)

(G)
$$e^{i\beta\widetilde{q}(x+\epsilon)}e^{-i\beta\widetilde{q}(0)}|G\rangle = \delta_{\beta\beta'}\langle G|:e^{i\beta\widetilde{q}(-\widetilde{q}(0))}:e$$

(G) $e^{i\beta\widetilde{q}(x+\epsilon)}e^{-i\beta\widetilde{q}(0)}|G\rangle = \delta_{\beta\beta'}\langle G|:e^{i\beta\widetilde{q}(-\widetilde{q}(0))}:e$

(G)

$$= \delta_{\beta\beta'} e^{\beta^2 \langle G | \widetilde{\phi}_{\ell}(x + i)\widetilde{\phi}_{\ell}(\omega) - \widetilde{\phi}_{\ell}^2(\omega) | G \rangle} = \delta_{\beta\beta'} e^{\beta^2 (\frac{-1}{4\pi}) \ln \frac{Q + i(x + \omega + \omega)}{Q}}$$

$$\langle G | e^{i\beta \widetilde{\phi}_{i}(xt)} e^{-i\beta \widetilde{\phi}_{i}(\omega)} | G \rangle = \delta_{\beta\beta'} \left[\frac{a}{a + i(x+vt)} \right] \frac{\beta^{2}}{4\pi}$$

$$\langle G|e^{i\beta\phi_{\rho}(xt)}e^{i\beta\phi(\omega)}|G\rangle = \langle G|e^{i\beta\sqrt{k}}\widehat{\phi}(xt)e^{i\beta\sqrt{k}}\widehat{\phi}^{(0)}|G\rangle$$

$$e^{i\beta NK}$$
 $\hat{\Phi}(x+\epsilon)$ $e^{i\beta NK}\hat{\Phi}(o) = e^{-i\beta NK}(\hat{\Phi}(x+\epsilon) - \hat{\Phi}(o))$: $e^{-i\beta NK}(\hat{\Phi}(x+\epsilon) - \hat{\Phi}(o))$:

$$\langle G | \widehat{\phi}(x \in) \widehat{\phi}(0) - \widehat{\phi}(0) | G \rangle = \langle G | (\widehat{\phi}_{R}(x \in) + \widehat{\phi}_{L}(x \in)) (\widehat{\phi}_{R}(0) + \widehat{\phi}_{L}(0)) - (\widehat{\phi}_{R}(0) + \widehat{\phi}_{L}(0)) | G \rangle$$

=
$$\langle G | \widetilde{\Phi}_{R}(x+)\widetilde{\Phi}_{R}(\omega) - \widetilde{\Phi}_{R}(\omega) | G \rangle \langle G | \widetilde{\Phi}_{R}(x+)\widetilde{\Phi}_{R}(\omega) - \widetilde{\Phi}_{R}(\omega) | G \rangle$$

$$\langle G | e^{i\beta\phi(x\epsilon)} e^{-i\beta\phi(\omega)} | G \rangle = \left[\frac{a}{a - i(x - v\epsilon)} \right]^{\frac{\beta^2 k}{4\pi}} \left[\frac{a}{a + i(x + v\epsilon)} \right]^{\frac{\beta^2 k}{4\pi}}$$

Thus in the Luttinge liquid phase, there are two competing ordering cow with scaling dimension K

pairing - K-1. K<1 cow wins

(repulsive

$$\langle G | \psi_{R}(x + i) \psi_{R}^{\dagger}(\omega) | G \rangle = \frac{1}{2\pi a} \langle G | e^{i\sqrt{4\pi}} \phi_{R}(x + i) e^{-i\sqrt{4\pi}} \phi_{R}(\omega) | G \rangle$$

$$\langle G | \phi_R(x \in \varphi_R(\omega) - \phi_R^2(\omega) | G \rangle = \langle G | (\frac{1+K}{2\sqrt{K}} \widetilde{\phi}_R + \frac{1-K}{2\sqrt{K}} \widetilde{\phi}_L) (\frac{1+K}{2\sqrt{K}} \widetilde{\phi}_R(\omega) + \frac{1-K}{2\sqrt{K}} \widetilde{\phi}_L(\omega) - \cdots | G \rangle$$

$$= \frac{(1+K)^2}{4K} \langle G | \widetilde{\phi}_R(x+) \widetilde{\phi}_R(\omega) - \widetilde{\phi}_R^2(\omega) | G \rangle + \frac{(1-K)^2}{4K} \langle G | \widetilde{\phi}_L(x+) \widetilde{\phi}_L^2(\omega) | G \rangle$$

$$\frac{\langle G | \psi_{R}(xt) \psi_{R}(0) | G \rangle}{\langle G | \psi_{R}(xt) \psi_{R}(0) | G \rangle} = \exp\left[-\frac{(1+k)^{2}}{4k} \ln \frac{\alpha - i(x-vt)}{\alpha} - \frac{(1-k)^{2}}{4k} \ln \frac{\alpha + i(x-v-t)}{\alpha}\right]$$

$$= \frac{1}{2\pi\alpha} \left[\frac{\alpha}{\alpha - i(x-v-t)}\right] \frac{(1+k)^{2}}{4k} \left[\frac{\alpha}{\alpha + i(x+v-t)}\right] \frac{(1-k)^{2}}{4k}$$

$$a = i(x-vt)$$

$$a = i(x-vt)$$

$$a = i(x-vt)$$

$$\psi_{L} = \frac{1}{\sqrt{\pi \pi} \alpha} e^{i\sqrt{\pi \pi} \phi_{L}}$$

$$\langle G | \psi_{L}(x+e) \psi_{L}^{\dagger}(\omega) | G \rangle = \frac{1}{2\pi \alpha} \langle G | e^{-i\sqrt{\pi \pi} \phi_{L}(x+e)} e^{i\sqrt{\pi \pi} \phi_{L}(\omega)} | G \rangle$$

$$\langle G | \phi_l(xt) \phi_l(o) - \phi_l^2(o) | G \rangle = \frac{(J-K)^2}{4K} \langle G | \widetilde{\phi_R}(xt) \phi_R(o) - \phi_R^2(o) | G \rangle$$

$$+ \frac{(i+k)^2}{4k} < G | \widetilde{\phi}(xt) \phi(0) - \widetilde{\phi}(0) | G \rangle$$

$$= \frac{1}{\langle G | \psi_{\ell}(x+\varepsilon) \psi_{\ell}^{\dagger}(\omega) | G \rangle} = \frac{1}{\sqrt{a}} \left(\frac{a}{a - i(x - v+\varepsilon)} \right) \frac{(1+\kappa)^2}{4\kappa} \left(\frac{a}{a + i(x + v+\varepsilon)} \right) \frac{(1-\kappa)^2}{4\kappa}$$

- National Brand 42:382 100 SH

fermin scaling dimension larger than 1/2.

$$\Delta_{V} = \frac{1}{2} \left[\frac{(1+K)^2}{4K} + \frac{(1-K)^2}{4K} \right] = \frac{1}{4} (K + \frac{1}{K}) \ge \frac{1}{2}$$

how about density! complation?

 $\langle G | \partial_x \phi(x+\epsilon) \partial_x \phi(00) | G \rangle = \partial_{x_1} \partial_{x_2} \langle G | \phi(x+\epsilon) \phi(x+\epsilon) - \phi^{\epsilon} \langle G | G \rangle$

=
$$k \partial_{x_1} \partial_{x_2} \{ \langle G | \widetilde{\phi}_R(x_1 t_1) \widetilde{\phi}_R(x_2 t_1) - \widetilde{\phi}_R(\omega) | G \rangle + R \rightarrow L \}$$

$$= K \partial x_1 \partial x_2 \left[\left(\frac{-1}{4\pi} \right) \ln \left[\alpha + i(x + v + \varepsilon) \right] + \left(\frac{-1}{4\pi} \right) \ln \left(\alpha - i(x - v + \varepsilon) \right) \right]$$

=
$$-\frac{k}{4\pi} \left(\partial_x^2 \ln \alpha + i(x+v+) + \partial_x^2 \ln (\alpha - i(x-v+)) \right)$$

$$= \frac{+k}{4\pi} \left[\frac{1}{(a+i(x+v+t))^2} + \frac{1}{(a-i(x-v+t))^2} \right]$$

it's negatively correlated!